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- : 6E6021 |
& | B.Tech. VI Semester (Maln/Back) Examination, Aprll/May 2017
o - Computer Sc. & Engg.
@ 6CS1A Computer Networks
CS, IT
Time : 3 Hours - * Maximum Marks : 80

Min. Passing Marks : 26
. Instructions to Candidates: -

Attempt any five questions, selecting one question from each unit. All Questions

carry equal marks. (Schematic diagrams must be shown wherever necessary.

Any data you feel missing suitable be assumed and stated clearly Umts of .
 quantities used/calculated must be stated clearly. .

Unit-1
1. a) Whatis D1stance vector Routmg‘? Explam count to Infinity problem and give
' itssolution? . - : )
b) Explain Flooding and shortest path routing an descrlbe how and when they
are used in link state routing. _ » 8
OR

1. a) What are the basic design issues of a Network layer? Also explain what are
. the services provided by the network layer to the transport layer? 8)

b) Differentiate between the static and dynamic routing with their prosand cons.
Give examples of some routing protocol used in both type of routing.  (8)

Unit - II |
2. a) Explainthe concept of fragmentation. Why fragmentation is done and how? (8)

b) What do you understand by layering and protocol? Explain your answer using
the Internet architecture. . _ (8)

OR

2. a) Define Network address translation. How the outgoing and incoming packets
' are made to reach to its destination in the presence of a MAT bax? Explain. (8)

b) Explain the difference between IPV4 and IPV6. .. . (8
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Unit - IIT

Describe why an application developer may choose to run its application
over U.D.P rather than TCP and draw the format of UDP header. - (8)

Write short note on : ‘ . | _ (444

_‘ 1) Addressing in Transport layer.

2)  Flow control and Buffering.

OR
3. Explain the working of Go-Back-N protocol and compare it with selective repeat
protocol. _ g (16)
| | Unit- IV

4.  Explain the TCP connection management. What isthe sig_niﬁczince of sequence number
and acknowledgement number fields of TCP segment. Explain with example. (16)

6E6021

OR
Explain the concept of Round Tr1p Time (RTT) and Retransmisswn Time
Out (RTO). | | - (6)
Explain working of Transport'layer in the Internet. ‘ . {6)

Consider sending a series of packets from sending host to receiving host
over a fixed route. Explain delay components encountered in the end to end

delay for single packet‘? : 4)
Unit-V _
What is Proxy server and how it is related to HTTP. : (6)
What is}JRL and what are its corniaonents‘? Explain. - - @
In electronic mail, what is MIME? e - (6) -
| OR

Compare SMTP with HTTP. (8) .
What is DNS? Explain how DNS works. ' )

%k
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Q | 6E6022 | |
S | B.Tech. VISemester (Main&Back) Examination, April/May - 2017
\é Computer Sc. & Engg.
& 6CS2A Design and Analysis of Algorlthms
' CS,IT
“Time : 3 Hours _ | ' Ma.xinium Marks : 80

| | Min. Passing Marks : 26
Instructions to Candidates:

Attempt ahy five questibns, éelecting one question from each unit. All Questions

carry equal marks. (Schematic diagrams must be shown wherever necessary.

Any data you feel missing suitable be assumed and stated clearly) Units of
quantities used/calculated must be stated clearly. :

_  Unit-1 :
1. a) . Explain and write an algorithm for greedy method of algorithm design. Given
: 10 activities along with their start and finish time as ‘ (8)

S = {Al’ Az’ As’ A4’ As’ A6’ A?? As’ Ag’ AIO}
8$.=4{1,2,3,4,7,8,9,9,11,12} =

= {3,5,4,7,10,9, 11, 13, 12, 14}
Compute a schedule where the largest number of activities take place.

b) 1)  Solvetherecurrence ' (4%2)
T(n) = T(n—1)+T(n-2)+1, when T=0
- T(1)=1
i) if fln) = 100*2"+ '+ n show that f(n) 0@y
OR .
1. a) Determine the best case complexity of Merge sort algorlthm @
b) Consider the foliowmg function ' @
. Int Sequential Search (int A[], int & x, int n) ' |
{
Inti;

For (int i =0, i <n & & afi]!=x;i++)
[f(i==n) returni; '
\ “

- Determine the average and worst case complexity of the ﬁmctlon Sequent1al '
Search. '
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2. a)
b)
2. - a)
b)
3 a)
b)
3. a)
b)

6E6022

. Show all the steps of Strasscn s matrix multiplication algorrthm to multlply_ —

the followmg matrlces | | o : )]

32 1 5
X= and Y =
<o gy o
I ' Unit- 11
Discuss Knapsack problem with respect to dynamic programming approach.

Find optimal solution for given problem, W(welght set) = {5, 10, 15, 20} and
size of knapsack is 8. _ _ o - (8)

Discuss Dynamic prcgramming 'solution to Longest common subsequence
problem. Write an algorithm to compute an LCS of two given strings.  (8)

OR

Write an algorithm for solvmg n-queen problem. Trace it for N~6 using
backtracking approach. S _ - @)

Describe Travelhng salesman problem Show that a TSp can be solved using

' backtrackmg method i in the exponential tine. . SR (8)

Umt 111

Explain and write Knuth MOITIS Pratt algorithm for pattern matchlng and also

comment on its runnmg time.. - . , (8)'

Let P =rrllrrll be a pattern and T = Irrrlreell rrrlerlerl elerterke be atextina stnng

‘matching problem : : . ' ¢)

i)  How many shifts (both vahd and 1nva11d) will be made by the Najve
- string matching algorithm? :

ii) Provide the algorithm to compute the transition ﬁanctlon for a strlng

matching automation.

i) Find out the state transition dlagram for the automatron to accept the
‘pattern P given above.

OR’ |

Discuss Boyer moore pattern matchmg algorrthm w1th approprrate example
of good prefix and bad character _ - ®
State the a551gnment problem and solve the followmg assignment problem
usmg branch and bound for which cost matrix is grven below. - (8)

4 7 5
Cost=2 6 1

3°9 8

@) -



 Unit-TV

4. a) Give_randomized algorithm for min cut of the following graph. . (8)

b) Write and explairr ford Fulkerson algorithm _ 3 -

_ 4,
a).
b)
_C)
5. 2
. b)
5 'a)
_ ‘b)
6E60?2

F md Maximum flow in above network | o (5) o
Find the correspondmg minimum cut and check that its capacity is same as
‘that value of maximum flow found in a) part. ' 7 ‘ 3
Compare Las.vegas and Monte carlo algonthm approaches _ R () h

| Unit-V - S
Prove that circuit satrsﬁablhty problem belongs to the class NP B ()
Assuming 3 CNF satrsﬂablhty problem to be NP-compIete prove clique
problem 1s also NP- complete E , : @8

" OR - S
Explain approximation algonthm for vertex cover, - . . 8 :
Write short note on : o | L’
¢ NP-completeness *  Cook’s theorem and its application

P
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| g - | 6E6023 | _
| & | B.Tech. VI Semester (Main &Back) Examination, April/May - 2017
\é = ComputerSc. & Engg.
v - '{6CS3A Theory of Computation -
" CSJIT.
Time .3 Hours ' ' - Maximum Marks : 80

Min. Passing Marks : 26

Instructions to Candidates: _
Attempt any five questions, selecting one question from each unit. Al questions
carry equal marks. Schematic diagrams must be shown wherever necessary. Any

data you feel missing suitable be assumed and stated clearly. Units of quantities
used/calculated must be stated clearly. ' '

Unit-1

1. a) Differentiate between deterministic and non-deterministic finite automata.
convert the following non-deterministic transition system into deterministic
system. (2+8=10)
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1.

2.

‘ b) Constract 2 Moore machine equwalent to the Mealy machine M defined by

the table given below : : . . , (6)
Present state - o "Next state V |
| ~a=0'.‘. a=1 .
" State | Output | State | Output
[»a ] @ 1 @ |0
) . U4 1 | da- 1
4 | @ 1 3 1
K g 0 q | 1
" - OR-
a) Construct a regular expression for the glven below determunstlc finite automata.
; (12)
1

b) Convert the following regular expression into an E~NFA : . (4)
R.E. =00 (0+1)*
~ Unit-II

a) Find a regular expressmn correspondmg to each of the followmg subset of
{0,1} - . | (3x4=12)

) The language of all strings contammg at least two 0’s .
i) . The language of all strings containing at most two 0’s
iii) The language of all strmgs ending with 1 and don’t contain 00.

iv) The language of all strings in which both the number of o’s and number
: -oflsareodd -

. 6E6023 - ‘ Q) -



5

Cdnstruct a r-_eguiar' grammar forL= {am bn| .m, nz1} - R , | ) |
) 5 , OR - _
2. é) ~ Construct a DFA (Detenmmstlc finite Automata) set of all strings over {0 1}
whose length is divisible by 3. 7 - - (12)
b) ~ Construct a finite automation recognizing L(G), where. G is th'e Gramimar, -
| | | _ . : . : (4)
S — aSpbA
Ao aAla
- Unit-I11 |
3. .a)® Constructa push‘Down Automata (PDA) for language i . (12
_ L= {anbwtm am n, m2o} - '- .‘ ' S
b) Show that the grammar ) . | S @ -
S — ajab SblaAb |
A — bS|aAAD is ambiguous — o -
o | ~ OR |
3. a Write a short notes on chomsky norma-l forms. ' 4)
b) Construct a Grammar in Greiback Normal Form (GNF) equlvalent to grammar
_ : (12)
S —>AB A—-)BS|bB - SA[a
Umt-IV
4. a) Givén the Grammar S — AB, A — a, B — Clb, C — D, D —E, E - a find
~ anequivalent grammar which is reduced and has no unit productlon 10
b) Consider the following production : . ©6)
S — aBJbA . '
A~ aS|bAAJa B — bS|a BBJb .
for string aaabbabbba, find left most and right most Derivation Trees.
. 4, . Construct a Tﬁring machine for L= {an b ¢cnn > 1} . (16)
5 S Unitv S
5. a) Explainthe model of Linear Bounded Automata (LBA). ‘ (6)
b) Find a context-free grammar for L = {an bn cnjn > 1} , : (10)
6E6023 3 - [Contd....



5. Write short notes on :

)
b).
c)

)

. 6E6023

OR

v
i

Recursive and recursively enumerable language

. Chomsky Hierarciiy oflanguages

Variation of Turing machine

Properties of context-free language

@

(4x4=16)
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3 - [6E6024] -
& | B.Tech. VI Semester (Main/Back) Examination, April/May - 2017
\mo ' . Computer Sc. & Engg. -
\O 6CS4A Computer Graphlcs and Multimedia Techmques
Time : 3 Hours R ‘Maximum Marks : 80

’ Min. Passing Mark's : 26
Instructions to Candidates: |

Attempt any five questions, selecting one question from each unit. All questions
carry equal marks. Schematic diagrams must be shown wherever necessary. Any
data you feel missing suitable be assumed and stated clearly. Umz‘s of quantities
used/calculated must be stated clearly.

Unit-f | A
1. a) Explain various application areas of computer graphics. Differentiate b_eam
penetration method of colored CRT with shadow"mask method.  (4+4=8)

b) What steps are requ’iredrto plot a line whose slope in between 0° and 45°
using Bresenham’s method? Indicate the raster locations would be chosen by
Bresenham’s algorithm when scan converting a line from screen coordinate
(20,10)to (30,18). o - o (4+4=8)

' (OR) h

1. a) - IfaTV sereen has 525 scan lines and an aspect ratio of 3:4 and if each pixel
* contains 12 bits of intensity information, how many bits are required for refresh

rate 30 frames per second? | - (8)
Ab) Give the advantages and disadvantages of DDA line algorlthm Explain mid
point circle algorithm. _ (2+6=8)
' Unit-I1 .

2. .a) Show rotation of a 2D Box represented by (5,5) to (10, 15) with respect to
(5,5) by 90° in anticlockwise direction. (8)

b) Explam flood fill algorithm. leferentxate it with Boundary fill algorlthm
_ (5+3= 8)

©OR) |

2. a) Explain Cohen Sutherland line algorithm. - 8

) 6E6024/2017 .,_ () ) [Contd....



b)

Show that the compos1t10n of two rotations is addltlve by concatenatmg the

matrix representation for-R(0,), and R(9,) to obtain : . (8
~ R(B1). R(6y) =R(6,+8,)
_ " Unit-YII
3. a) Explain the scan line method for displaying the visible surface of a given -
. polyhedron. : : (8)
b) Differentiate B- splmes with Bezier curves. Brleﬂy describe B-spline curve.
' (3+5=8)
: (OR)
3. a) Whatis hldden surface problem‘7 Write and explaln Z-buffer algorithm. for
- visible surface detection. ’ (2+6=8)
b) Whatis parametrlc representation of a cuive? Explain Bezicr curve in detail.
. ‘ (2+6=8)
Unit-IV
4, a)
b)
4. a)
b)
5. a)
b).
5. a)
b)

6E6024

Explain following terms : , - (3%3=9) |

- 1) Diffuse reflection

i) Specularreflection
iii) Hlumination model

Explam phong shading. Compare it with Gouraud shading. (4+3=7) -
(OR) ‘
- What is Ray Tracing? Explain Basic ray tracing algorithm. . (2+6=8)
~ Explain color model RGB. Compare it with HSV. (5+3¥8)
| Unit-V - -
i Deﬂne Animation. Explain principles of an1mat10n brleﬂy . (2+6=8)
What is compression of data? Explain MPEG in detail. . (2+6=8)
(OR)
Explain various presentation tools. - . ' (8)

Explain Authority tools with their uses. : . 8

@
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a 6E6025 -
- B.Tech. VI Semester (Main/Back) Exammatmn,Apr1]/May-2017
et ' ~ Computer Sc. & Engg.
o
& 6CS5A Embedded System Design
Time. : 3 Hours " o © . Maximum Malrl'{s : 80.

| Min. Passing Marks : 26
Instructions to Candidates:

Attempt any five questtons selectmg one question from each unit. All Questzons

carry equal marks. (Schematic diagrams must be shown wherever necessary.

Any data you feel missing suitable by assumed and stated clearly) Units of
quanntles used/calculated must be stated clearly

Unit-I
1. a) Define embedded systems and also define the components of embedded
system hardware. - . . (®
‘ B) What are the requirernenfé before designing an embedded system? 8)
1. a) Whatisthe micfocontroller and what is the use of micro'control_l_er? 8)

b) Define an-embedded system give specific feature of embedded system. In
this context how is microcontroller different from a micro processor. (8)

Umt-II

2. a) Explainscheduling of multlple tasking in real time by RTOS and deﬁne Interrupt

handling. N .

b) Explain beneﬁts that an interrupt address table has over fixed and vectors
interrupt methods. : . (3) :

o OR o N
2. a) 'Explai_n different types of scheduling models. ' _ (8)
b) Explain Round Robin scheduling with suitable examp_lé? , - (8)

6E60252017 ’ (03 | ‘[Contd....
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Unit-111

3. a) Explain the meaning of “No Blocking” and “No RTOS calls without fair
_ warning”for intrrupt Routines in an RTOS Environment with examples. (8)-
b) Write short notes on : _ ' o (4x2)
i)y TCB o '
i) Market window '
OR o
3.  Write short note on : ' i _ - - (4%4)
a) Fixed block Allocation | '
b) Preemptive Scheduling .
c) Mutex
d) Pipe
. o . Unit-TV -
4. Write short note on : ' ' ' . (4x4)
a) IJTAG | | ;
b) ONX
¢) Windows CE
d) Locator _
OR _
4. a) Explainthe requirement of RTOS? What are the criteria to achieve it? (8)
~b) Explain software Architecture of RTOS kernel. And also define types of RTOS
kemel. 3)
© Unit-V S
5. Write short note on : ' | | (4%4)
a) ~CPU performing issue |
b) Data acquisition system
¢) Energy meter .
d) Debugging Techniques |
OR
5. a)- Explain pros and cos of leaving the debugging software in final embedded
system firmware. ' ®
b)  Whatis the complex testing in Embedded system? And define the function of
- ICE. ' ' 8)
e e

@



| RollNo. ' . _ ' [Totai No. of Pages : |2_
(l: 6E6027
& | B.Tech.VI Semester (Main&Back) Examination, Aprll/May 2017
5 Computer Sc. & Engg.
O - 6CS6.2A Artificial Intelligence

Time : 3 Hours _ o ‘ Maximurh'Marks 80
: ' Min. Passmg Marks : 26

Instructions to Candidates:

Attempt any five questions, selecting one question from each unit. All questions
carry equal marks. Schematic diagrams must be shown wherever necessary. Any
data you feel missing suitable be assumed and stated clearly. Units of quammes_
used/calculated must be stated clearly.

Unit-I
1. a) Eﬁcplain artificial intelligence with suitable example.

b) Write the characteristics of production system, with various types of
production systems. "

OR
1. a) Differentiate thé breadth first search and depth ﬁljsf search in detail.
B) What is Control strategy, define briefly. |
' Unit - II
2. | Epré_in non monotonic reasoning with suitable example.
| ~ OR
What is predicate logic? Differentiate propositional and predicate logic.
B Unit - [11
3. a) Coﬁve;t the following statement into predicate logic. :
1) Horses, cows and pigs mammals. |
~2) An offspring of a horse is a horse
| 3) Bluehogisahog
4) Bluehogisa charlie parent

5) Offspring & parent are inverse relation.

© 6E6027 /2017 o 6} o '_ ~ [Contd....



b)

6) Every mammal has a parent.
Write short note on Minimalist reasoning.

OR

3. Explam the concept of script as a structure descrlbmg the sequences of events.
Construct a script of any suitable examples.

b)

4. a)
b)
4. a)
D
5. a)
b)
5. a)
6E6027

Unit-1V

What is natuﬁraljlanguage processing? Explain with example.:

Explain the following in detail :

1) Syntactic processing 2) * Semantic processing
OR |

What are game playing techniques? EXpiain minimax pfoceduie with eXarﬁplc.

Explain the algo of minimax search procedure with suitable diagram of two
ply search and packing up the value of two ply search.

Unit-V

. What do you mean by expert system‘? Explain “MYCIN” in depth with block

diagram..

Explain the concept of hop field neural network with suitable sketch with its
applications. : :

OR
What are the techniques used in measuring? Explain.

How “learning by example” is different from “learning by taking advice”?
Explain it giving suitable example.

&k %
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X " 6E6028
& | B. Tech VI Semester (Main/Back) Examination, April/May - 2017
Eg Computer Sc. & Engg. :
& 6CS6.3A Human Computer Interface
I CS, 1T ‘
Time : 3 Hours | - - - Maximum Marks : 80

Min. Passing Marks : 26

. Instructions to Candidates:

Attempt any five questions, selecting one question from each unit. All Questions
carry equal marks. Schematic diagrams must be shown wherever necessary. Any
data you feel missing suitable be assumed and stated clearly Units of quantztzes'
used/calculated must be stated clearly.

Unit- i
1. a) Compare various test entry devices. - o , i

b) - Howdo ergonomlcs affect the 1nteract10n between man and machine? Explam

(6+10)
OR
1. - a) State what are the causes and effects of emotions. R . (8)
b) Explain various inputfouti)ut channels. S 8
| | | Unit - 11 |
2. a) Explain: - : ' | -, - (Sj
i)  Process of design | ‘ | |
| iiy  Usability Engineering
'iii) User Focus |
b) Differentiate between local structure and global structure. | | (8)
| OR | Q
“ 2.‘ a) Whatarethe principles to support learnability? : (8)

b) Explain low fidelity prototyping and high fidelity prototyping in details. ~ (8)

6E6028/2017 » 1) S [Contd....



Unit - iII
3.  Explain the requirements of usef support system and approaches for the sam;a. 16)
. ox .
3. Explain: = 8 x 2=16)
i) Evalﬁation through expert analysis | |
i) Experimental evaluation,
‘Unit -1V |
4. Whatis cognition? Exi)lain cognitive architecture in detail. (16)
OR | |

4. Explain key stroke level models. Three state model and problem state model. (16)

Unit-V
5. Describe the main kind of social mechanism that are used by people to qomrriunicate
and collaboration. : B (16)
OR

5.  Explain kndwledge baséd_and ER based analysis Differentiate between both. (16)

T
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= . | 6E6094 | - |
& |  B.Tech. VI Semester (Back) Examination, April/May - 2017
| Computer Sc. & En o o
= p - & EDgE. _
& 6CS4(0) Programming in Java
(Common with IT(Main)) .
Time :3Hours = | L Maximum Marks : 80

_ Min. Passing Marks : 26
Instructions to Candidates: ' ‘

Attempt any five questions, selecting one question from each unit. All Questions
carry equal marks. (Schematic diagrams must be shown wherever necessary.

Any data you feel missing suitable be assumed and stated clearly. Units of

quantities used/calculated must be stated clearly. ' '

| Unit-I

1. a) Explain primitive data types supported by Java. : . (8)
b) How canyou implement one dimerjsional arrays, multidimensional arrays in
- Java. Also.give examples. _ f ‘- ~ (4+4=8)
| (OR) | -
‘1. a) Explainhow to declare variables in Java? Explain dynamic initialization, scope '
- and lifetime of variables. o _ (2+2+2+2=8)
b)  Explain the working of Java virtual machine in detail. | , (8)
| | ‘Unit-TI
2. a) " Describe the fbllowing_ selection statements in:J aval(using examples) ,
' (2x4=8)
i) Break |
i) Continue :
b) Explain constructors in Java with examples. o ' . (8
, . (OR) | |
2. a) Explain about explicitly garbage collectors and finalize ( ) method with an
example. ‘ (4+4=8)
b) Describe how access control implemented in J ava. ' B ()

6E6094/2017 ] M) ' [Contd....



. Unit-111

3. a) Howdoyouaddaclassoran interfacetoa package‘? Explain with examples.
' . : (8)
b)  Write all similarities and differences between mterfaces and class with examples.
(4+4=8)

(OR)

3. a) Whatisa strmg buffer? Give three ways of creating a string object (4+4=8)
" b) Describe the various levels of access protection available in packages and

their implications with an example program. : . (4+4=8)

Unit-IV '
4. a) Explain how exception handlmg mechamsm can be used for debugging a
program. ' - ' 3

b) 1) Isitpossible to have multiple catch blocks? Give example?  (4+4=8)
i) Is it possible to have nested try statement? Give example.

(OR)
4. aj Explain how files can be read and write in Java with example. (8)
" b) How are the various stream classes classified in Java? Nt
Unit-V |

5. a) What are the differenee between threads and process? How can extend the
thread class? Explain with example (code)? _ (4+4=8)
- b) Explain the structure of applet with the help of example. S (8)

(OR) ‘ ’
5. a) How anapplet différ from apphcatlon program (8)
b) Briefly explain: ‘ ©(4+4=8)

i)  Thread synchron1zat10n
‘i)  Thread execution

6E6094 | | @)
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| | 6E6095 | - -
& | '‘B.Tech. VI Semester (Main & Back) Examination, April/May-2017
‘Eg " ‘Information Technology . ~ - -
& | 6ITSA Information Theory and Coding
Time : 3 Hours . S - 'Maximum Marks : 80

- Min. Passing Marks : 26
Instructions to Candidates: - -
Attempt any five questior_zs, selecting one question from each unit. All Questions
carry equal marks. (Schematic diagrams must be shown wherever necessary.

. Any data you feel missing suitable by assumed and stated clearly) Umts of
. quantztzes used/calculaz‘ed must be stated clearly.

Unit-1

1. a) State and prove Shannon-Hartley theorem. How it can give trade off between -
bandwidth and channel capac1ty‘? What is the maximum value of channel

capacity? . : )
b) A discrete source emits one of 5 symbols once ev'ery millisecond. The symbol
.. 11111
probabilities are ~°4°8°16°16 respectlvely Caiculate H.R. : (8)
(OR)
1. a) Define entropy. Under what condition the maximum entropy is achieved? |
~ Obtain the value of maximum entropy for a binary system. (8

' b)  Verify the followingequation: - (8)
) H(xy)=Hx/y) +HE) -
i) HEy)=Hx)+Hy) _

| Unit-II

2, a) Write short notes on.'
i) Types of errors encountered in communication systcms @
1) Error control coding used for controlling errors. _ )
kb‘) Determine the Hempel ziv code for the following bit stream : K¢

0100111110010100000101010110011000060

Recover the original sequence from the encoded stream.

6E6095/2017 ' W .. [Contd....



2. 3
b)
3. a)
b
c)
3 g)
b)
4. a)
b)
4. 2a)
b)

6E6095

(OR)
The following set of messages with their prob‘abilities are givenbelow:  (8)

x‘“{xl, 29 X3 4’}

Find average code word length of a suitable binary code to above fnessage.

State channel coding theorem. What is the fundamental limit on the rate at

which reliable transmission can take place? ' (8)
Unit-HI
What is linear block code, error correctmg code, systematic linear block
. code?. i o : : €
" For an (n, k) block code with k=38, find the value of n and hence calculate the
error correcting capability of this code? _ : . (8)
For block code (n, k), define rate. of code or rate‘efﬁciency? _ _‘ (4)
(OR)

Explain the relation between generator matrix and parity check I_Iiatrix H? (8
Explain matrix description of cyclic codes? _ (8
Unit—IV

A three-error correcting (23, 12) golay code is a cyclic code with a generator
polynomial g(x) = x" + x°+ x”+ x®+ x>+ x + 1 Determine the code words foi
the data vectors. ' _ | - (8

- 000011110000, 101010101010, 11000101011110

‘Draw a block diagreim of an encoder and syndrome calculator for the code

g(x) = L+ x+x* verify the operation using rmessage vector (1010). ]
_ . (OR) .
Specify the properties of g(x), a generator polynomial for cyclic cddgs? (8

Describe encoding and decoding steps.of BCH codes? . (8

@) .



Unit-V

Draw the tree diagram for a suitable convolutional coder. Assume 5 bit message -
input. How it can be used for decoding the message? )]

Define burst error. Why does it oceur and how it is different from random

€ITOrS. : : (5)

Compare the three ARQ schemes? | ' - (6)
. ©R)

What 1s fransfer function? Explain its role in convolutional codes? 8)

Write short notes on the following : ' - . (4x2=8)

D Cataétrophic .code

5. a)
b)
o)

5. a)
b)

6E6095

il)  Viterbi algorithm

3)






